
LH¶

õLH x0, x1, x2 · · ·

xn+1 = g(xn)

Y¹Ä†: | g′(x0) |< 1 , ?¹

(1−f ′(x0)) < 1,→ f ′(x0) > 0

Examples: x2 − 3 = 0

x0 = 2.0 initial guess:

Case 1: x = 1
2
(x + 3

x
) (OK)

Case 2: x = x2 + x− 3 (NG)

Case 3: x = 3
x

(NG)

ƒbLH x0(t), x1(t), x2(t), · · ·

xn+1(t) = F{xn(t)}

à

ẏ(t) = ay(t)

LH�

y(t) = y(0)+

∫ t

0

ay(τ)dτ

Éä®−�‰j˙:

−kx(t) = mẍ(t)− kη

π

∫ ∞

−∞

x(u)

(t− u)
du

²¾LH x̃0, x̃1(t), x̃2(t), · · ·

x̃n+1(t) = F{x̃n(t)}

à

dx̃(t)

dt
= Ax̃(t)

LH�

x̃(t) = x̃(0)+

∫ t

0

Ax̃(τ)dτ

State: point, function and vector.
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